

Finance and Administration Services Department PURCHASING DIVISION 115 S. Andrews Avenue, Room 212, Fort Lauderdale, Florida 33301 | 954-357-6066 | FAX 954-357-8535 | broward.org/Purchasing Hours of Operation: Monday through Friday 8:30 a.m. to 5:00 p.m.

TRANSMITTED VIA EMAIL

July 11, 2019

Mike Black Florida Design Drilling Corporation 7733 Hooper Road West Palm Beach, FL 33411 mike@fldrilling.com

RE Solicitation: OPN2118442B1, Well Rehabilitation

Award Date: June 28, 2019 Awarded by Director of Purchasing

Dear Mike Black,

This is to confirm that the awarding authority has accepted your solicitation response on the above-referenced solicitation. A tabulation of all responses received is enclosed with item(s) awarded to your firm indicated.

The Contract is in effect for the period beginning 8/16/19 and ending 8/15/20. Purchase Order(s) will be placed as and when required.

A copy of this Notice, with a copy of your solicitation response, including all terms and conditions, is being forwarded to all Using Agencies.

Please email all invoices generated from this contract to accountspayable@broward.org AND the Project Manager listed on the purchase order. Invoices must contain the County's purchase order number. Any questions regarding payment of invoices should be directed to the Project Manager or Requestor listed on the purchase order.

Thank you for your interest in doing business with Broward County.

Sincerely,

Brenda J. Billingsley, Director **Purchasing Division**

By: AMY ALMANZAR DN dc=ty, dc=broward, dc=bc, ou=Organization, ou=BCC, ou=PU, ou=Users, cn=AMY ALMANZAR Date: 2019 07.11 13.30.19 -04'00'

Amy Almanzar, Purchasing Agent, Senior

C: Nestor Berrios, Water & Wastewater Services

Award Letter to Vendor

A Service of the Broward County Board of County Commissioners

Excellence in Government Procurement - Our Best. Nothing Less.

bilitation Supplie	er Tab County Commis	ssioners		TR 13381 - Exhibit 1	
Florida Desi	gn Drilling Corporation 🖄		\$659,490.0	00 (76/76 items)	
Bid Contact	mike@fldrilling.com Ph 561-371-9985	ddress 7733 Hooper Road WEST PALM BEACH, FL 33411			
Qualifications Bid Notes	s SB Bid Bond - hand delivered to Broward County Purchasing 5/17/2019 at 8:41am. Receipt #9341 Licensed Water Well Contractor #11148 attached Licensed CGC 1522104 attached COI attached Drug Free Workplace Certification attached Any other necessary documents or necessary paperwork available immediately upon request				
Agency Notes:		Supplier Notes: Bid Bond - hand delivered to Broward County Purchasing 5/17/2019 at 8:41am. Receipt #9341. Licensed Water Well Contractor #11148 attached Licensed CGC 1522104 attached COI attached Drug Free Workplace Certification attached Any other necessary documents or necessary paperwork available immediately upon request.			
Item #	Line Item	Unit Price	Qty/Unit	Total Price	
OPN2118442B1 01-01 🕉	- Group 1: Well Evaluation Testing, Site Mobilization/Demobilization for New Well Construct - First Offer	t	2 / each	\$10,000.00	
Product Code: Supplier Product Code: Agency Notes: Supplier Notes:					
OPN2118442B1 01-02 🖄	Group 1: Well Evaluation Testing, Two-Hour (Pre Rehabilitation) Constant Rate Pump Test · First Offer		6 / each	\$3,000.00	
Product Code Agency Notes	:	Supplier Product Co Supplier Notes:	de:		
OPN2118442B1 -01-03	Inspect County's Pump Facilities - First Offer		6 / each	\$30,000.00	
Product Code Agency Notes	: 	Supplier Product Code: Supplier Notes:			
OPN2118442B1 -01-04 🕱	Well Casing and Production Inter · First Offer		6 / each	\$40,500.00	
Product Code Agency Notes		Supplier Product Code: Supplier Notes:			
OPN2118442B1 -01-05	- Group 1: Well Evaluation Testing, Video Survey of Casing and Production Interval - First Offer		1 / each	\$5,000.00	
Product Code Agency Notes	:	Supplier Product Code: Supplier Notes:			
OPN2118442B1	Brushing/Swabbing · First Offer		3 / each	\$10,500.00	
Product Code Agency Notes	:	Supplier Product Co Supplier Notes:			
OPN2118442B1 -01-07 🕱	Efficiency Test · First Offer		1 / each	\$1,000.00	
Product Code Agency Notes	: 	Supplier Product Code: Supplier Notes:			
OPN2118442B1 -01-08 🕱	Reaction Tests (BARTs) · First Offer		1 / each	\$500.00	
Product Code Agency Notes	:	Supplier Product Code: Supplier Notes:			
OPN2118442B1 -01-09	Group 1: Well Evaluation Testing, Water Quality Sample and Laboratory Analyses - First Offer		1 / each	\$2,500.00	

Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
OPN2118442B1- -01-10 🕱	Group 1: Well Evaluation Testing, Production Sand Testing · First Offer	\$500.00	1 / each	\$500.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
OPN2118442B1- -01-11 🕱	Group 1: Well Evaluation Testing, Silt Density Index (SDI) Testing · First Offer	\$250.00	1 / each	\$250.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
OPN2118442B1- -01-12 🕸	Group 1: Well Evaluation Testing, Water Level Monitoring with Pressure Transducer and Log - First Offer	\$1,000.00	1 / each	\$1,000.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
OPN2118442B1- -01-13 🕱	Group 1: Well Evaluation Testing, Two-Hour Constant Rate Test with CONTRACTOR's Pump - First Offer		1 / each	\$2,500.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
OPN2118442B1 - -01-14 🕱	Group 1: Well Evaluation Testing, Rehabilitation Recommendation Report - First Offer	\$1,000.00	6 / each	\$6,000.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
OPN2118442B1- -01-15 🕱	Group 1: Well Evaluation Testing, Post Rehabilitation Report - First Offer		6 / each	\$3,000.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
OPN2118442B1- -01-16 🖄	Group 1: Well Rehabilitation Procedures, Casing and Screen/Open Hole Jetting · First Offer	\$2,500.00	1 / each	\$2,500.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
OPN2118442B1- -01-17 🕱	Group 1: Acidization of Screen/Open Hole Interval · First Offer		1 / each	\$5,000.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
OPN2118442B1- -01-18 🕱	Group 1: Well Rehabilitation Procedures, CO2 Injection in - First Offer	\$5,000.00	1 / each	\$5,000.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
OPN2118442B1- -01-19 🕱	Group 1: Chlorination with Swabbing of Well Casing and Screen/Open Hole - First Offer	\$2,500.00	1 / each	\$2,500.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
OPN2118442B1- -01-20 🕱	Group 1: Well Rehabilitation Procedures, Pressure Grout Cement Squeeze · First Offer		1 / each	\$2,500.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
OPN2118442B1- -01-21	Group 1: Well Rehabilitation Procedures, Well Development AirLift (Completion Requirement - First Offer	\$300.00	50 / hour	\$15,000.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
OPN2118442B1- -01-22 🕸	Group 1: Well Rehabilitation Procedures, Well Development Pumping · First Offer	\$300.00	50 / hour	\$15,000.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	

bid #OPN2118442B1 - Well Rehabilitation Supplier Tab

Broward County Board of

abilitation Supplier	Tab County Commiss	sioners		TR 13381 - Exhibit 1
OPN2118442B1- -01-23	Group 1: Well Rehabilitation Procedures, Open Hole Drilling and Clearing (assumes 30 feet - First Offer	\$500.00	10 / linear foot	\$5,000.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
OPN2118442B1- -01-24 🕱	Group 1: Well Rehabilitation Procedures, Drill New Well (assumes pilot and ream for 6, 24 · First Offer	\$1,000.00	10 / linear foot	\$10,000.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
OPN2118442B1- -01-25	Group 1: Well Rehabilitation Procedures, Furnish and Install Temporary Discharge Piping A · First Offer	\$2.50	800 / linear foot	\$2,000.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
OPN2118442B1- -01-26 🖄	Group 1: Well Rehabilitation Procedures, Furnish and Install Temporary Discharge Piping B · First Offer	\$50.00	200 / linear foot	\$10,000.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
OPN2118442B1- -01-27	Group 1: Post-Rehabilitation Baseline Testing, 8-Hour, 4- Step Drawdown Test (8 Sand; 8 SD - First Offer	\$2,500.00	1 / each	\$2,500.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
OPN2118442B1- -01-28 🖄	Group 1: Post-Rehabilitation Baseline Testing, 8-Hour Constant Rate Specific Capacity Tes - First Offer	\$2,500.00	1 / each	\$2,500.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
OPN2118442B1- -01-29	Group 1: Post-Rehabilitation Baseline Testing, Video Survey of Well Casing and Open Hole/ · First Offer	\$1,500.00	4 / each	\$6,000.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
OPN2118442B1- -01-30 🖄	Group 1: Post-Rehabilitation Baseline Testing, Reinstall Surficial wellhead, column pipe, · First Offer	\$2,500.00	6 / each	\$15,000.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
OPN2118442B1- -01-31	Group 1: Post-Rehabilitation Baseline Testing, Disinfect Well and Pump Facilities for Hea - First Offer	\$2,500.00	6 / each	\$15,000.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
OPN2118442B1- -01-32 🕱	Group 1: Post-Rehabilitation Baseline Testing, Bacteriological Testing for Health Departm · First Offer	\$500.00	6 / each	\$3,000.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
OPN2118442B1- -01-33	Group 1: Well Reconfiguration, Furnish and Install reinforced cement well pad, head, supp · First Offer	\$1,500.00	30 / cubic yard	\$45,000.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
OPN2118442B1- -01-34	Group 1: Well Reconfiguration, Replace existing wellhead with new 316 S.S. with 8 inch we - First Offer	\$4,500.00	1 / each	\$4,500.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
OPN2118442B1- -01-35	Group 1: Well Reconfiguration, Replace existing wellhead with new 316 S.S. with 10 inch w - First Offer	\$5,500.00	1 / each	\$5,500.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
OPN2118442B1- -01-36 🖄	Group 1: Well Reconfiguration, Replace existing wellhead with new 316 S.S. with 12 inch w · First Offer	\$6,500.00	1 / each	\$6,500.00

Product Code:

7/11/2019

Supplier Product Code:

bid #OPN2118442B1 - Well Rehabilitation Supplier Tab

Broward County Board of County Commissioners

TR 13381 - Exhibit 1

		1		TR 13381 - Exhibit 1
Agency Notes:		Supplier Notes:		• • • • • • •
OPN2118442B1- -01-37 🕱	Group 1: Well Reconfiguration, Furnish and Install pedestal with new 3 inch diameter pipe - First Offer	\$500.00	8 / each	\$4,000.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
OPN2118442B1- -01-38 🕱	Group 1: Pump Rehabilitation/Maintenance Procedures, Pump motor retrieval - First Offer	\$200.00	40 / hour	\$8,000.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
OPN2118442B1- -01-39	Group 1: Pump Rehabilitation/Maintenance Procedures, Welding - On-site - First Offer	\$250.00	4 / hour	\$1,000.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
OPN2118442B1- -01-40 🕉	Group 1: Pump Rehabilitation/Maintenance Procedures, Welding at the Machine Shop - First Offer	\$300.00	2 / hour	\$600.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
OPN2118442B1- -01-41	Group 1: Pump Rehabilitation/Maintenance Procedures, Pump disassembly and inspection in - First Offer	\$500.00	1 / hour	\$500.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
OPN2118442B1- -01-42	Group 1: Pump Rehabilitation/Maintenance Procedures, Pump maintenance in shop - First Offer	\$250.00	4 / hour	\$1,000.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
OPN2118442B1- -01-43	Group 1: Pump Rehabilitation/Maintenance Procedures, Trim impeller in shop - First Offer	\$500.00	1 / each	\$500.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
OPN2118442B1- -01-44 🕉	Group 1: Pump Rehabilitation/Maintenance Procedures, Pump Motor maintenance - First Offer	\$250.00	4 / hour	\$1,000.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
OPN2118442B1- -01-45 🕱	Group 1: Pump Rehabilitation/Maintenance Procedures, Furnish and Install SS Well motor s - First Offer	\$250.00	1 / each	\$250.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
OPN2118442B1- -01-46 🕱	Group 1: Site Restoration, Site Grading · First Offer	\$150.00	5 / hour	\$750.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
OPN2118442B1- -01-47	Group 1: Site Restoration, Sod Replacement with Crew - First Offer	\$25.00	75 / square yard	\$1,875.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
OPN2118442B1- -01-48 🕱	Group 1: Site Restoration, Site Fill Material - First Offer	\$25.00	25 / cubic yard	\$625.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
OPN2118442B1- -01-49	Group 1: Miscellaneous, On Site Emergency Site Evaluation Meeting - First Offer	\$500.00	1 / each	\$500.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
OPN2118442B1	Group 1: Miscellaneous, Mobilize Drilling Rig and Crew -	\$7,500.00	1 / each	\$7,500.00

abilitation Supplier	Tab County Commis	sioners		TR 13381 - Exhibit 1
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
OPN2118442B1- -01-51	Group 1: Miscellaneous, Geophysical Logging Suite · First Offer	\$3,500.00	1 / each	\$3,500.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
OPN2118442B1- -01-52 🖄	Group 1: Miscellaneous, Dynamic Geophysical Logging Suite (Dynamic Flow and Video Log) · First Offer	\$7,500.00	1 / each	\$7,500.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
OPN2118442B1- -01-53	Group 1: Miscellaneous, Furnish and Install 14-inch diameter Certa-Lok or equal - First Offer	\$125.00	20 / linear foot	\$2,500.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
OPN2118442B1- -01-54 🕸	Group 1: Miscellaneous, F & I 17.4-inch diameter Certa-Lok or equal - First Offer	\$150.00	20 / linear foot	\$3,000.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
OPN2118442B1- -01-55	Group 1: Miscellaneous, F & I 24 inch diameter Certa-Lok or equal - First Offer	\$250.00	20 / linear foot	\$5,000.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
OPN2118442B1- -01-56	Group 1: Miscellaneous, Johnson Screens Services - Screen Slot and Gravel Pack Evaluation - First Offer	\$500.00	1 / each	\$500.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
OPN2118442B1- -01-57	Group 1: Miscellaneous, Furnish and Install Wire-Wound 316 stainless steel 14 inch Diam S - First Offer	\$150.00	10 / linear foot	\$1,500.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
OPN2118442B1- -01-58	Group 1: Miscellaneous, Furnish and Install Wire-Wound 316 stainless steel 17.4 inch Diam - First Offer	\$350.00	10 / linear foot	\$3,500.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
OPN2118442B1- -01-59	Group 1: Miscellaneous, Furnish and Install Wire-Wound 316 stainless steel 24 inch Diam S - First Offer	\$450.00	5 / linear foot	\$2,250.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
OPN2118442B1- -01-60 🖄	Group 1: Miscellaneous, Furnish and Install Potable Water DIP Fittings · First Offer	\$4,000.00	2 / ton	\$8,000.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
OPN2118442B1- -01-61	Group 1: Miscellaneous, Gravel Fill (clean limestone) - First Offer	\$35.00	30 / cubic foot	\$1,050.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
OPN2118442B1- -01-62	Group 1: Miscellaneous, Gravel Fill (6/20 sand) - First Offer	\$35.00	30 / cubic foot	\$1,050.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
OPN2118442B1- -01-63	Group 1: Miscellaneous, Primary & Secondary Water Quality Laboratory Analysis (Chp 62-550 · First Offer	\$5,000.00	1 / each	\$5,000.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
			1	

bilitation Supplier OPN2118442B1	-	i	20 / 18	TR 13381 - Exhibit
-01-64 🕱	Group 1: Miscellaneous, Furnish and Install 2 inch diameter schedule 40 PVC casing - First Offer	\$25.00	20 / linear foot	\$500.
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:	
OPN2118442B1- -01-65 🖄	Group 1: Miscellaneous, Furnish and Install I 2 inch diameter schedule 40 PVC 10 slot scr · First Offer	\$25.00	10 / linear foot	\$250.
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:	
OPN2118442B1	Group 1: Miscellaneous, Furnish and Install 6 inch Protective Monitor Well Wellhead, Pad, - First Offer	\$2,500.00	1 / each	\$2,500.
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
OPN2118442B1- -01-67	Group 1: Miscellaneous, Abandon Existing Wellhead Pedestals and Well Pads - First Offer	\$1,500.00	30 / cubic yard	\$45,000.
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
OPN2118442B1- -01-68 🖄	Group 1: Miscellaneous, Abandon Existing Well Vaults - First Offer	\$5,000.00	1 / each	\$5,000.0
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
OPN2118442B1- -01-69 🖄	Group 1: Miscellaneous, Remove and replace fencing to original condition (per well, as ne - First Offer	\$100.00	50 / linear foot	\$5,000.
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
OPN2118442B1- -01-70 🖄	Group 1: Miscellaneous, Project Manager - First Offer	\$50.00	200 / hour	\$10,000.(
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
OPN2118442B1- -01-71 🖄	Group 1: Miscellaneous, Foreman - First Offer	\$50.00	300 / hour	\$15,000.0
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
OPN2118442B1- -01-72 🖄	Group 1: Miscellaneous, Laborer - First Offer	\$35.00	700 / hour	\$24,500.0
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:	
OPN2118442B1- -01-73 🖄	Group 1: Miscellaneous, Contractor-Owned Crane Truck and Crew - First Offer	\$250.00	4 / hour	\$1,000.0
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:	
OPN2118442B1- -01-74 🖄	Group 1: Miscellaneous, Rental Crane Truck Company and Crew - First Offer	\$500.00	4 / hour	\$2,000.0
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:	
OPN2118442B1- -01-75 🖄	Group 1: Miscellaneous, OWNER-Directed Standby Time - First Offer	\$5.00	4 / hour	\$20.0
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:	
OPN2118442B1- -01-76 🖄	Group 1: Miscellaneous, OWNER-Directed Standby Time Equipment Only - First Offer	\$5.00	4 / hour	\$20.0
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:	
				Lot Total: \$479,490.0

